
(7+,&6�	 
35$&7,&$/�
3+,/2623+< 
 

 

.(<127(�63($.(5� 

6$5$+�%866� 
81,9(56,7<�2)�0,&+,*$1 

 

68%0,66,21�*8,'/,1(6 

· WĂƉĞƌƐ�ƐŚŽƵůĚ�ďĞ�ƉƌĞƉĂƌĞĚ�
ĨŽƌ�ďůŝŶĚ�ƌĞǀŝĞǁ͕�ǁŝƚŚ�Ăůů�
ŝĚĞŶƟĨǇŝŶŐ�ŝŶĨŽƌŵĂƟŽŶ�
;ŝŶĐůƵĚŝŶŐ�ŶĂŵĞ͕�ĐŽŶƚĂĐƚ�
ŝŶĨŽƌŵĂƟŽŶ͕�ĂŶĚ�ŚŽŵĞ�ŝŶͲ
ƐƟƚƵƟŽŶͿ�ŝŶĐůƵĚĞĚ�ĂƐ�Ă�ĐŽǀͲ
Ğƌ�ƉĂŐĞ�ƚŽ�ƚŚĞ�ĚŽĐƵŵĞŶƚ͘� 
 
 

· WĂƉĞƌƐ�ƐŚŽƵůĚ�ŝŶĐůƵĚĞ�ĂŶ�
ĂďƐƚƌĂĐƚ�;ϮϱϬ-ϰϬϬ�ǁŽƌĚƐͿ�ŽŶ�
ƚŚĞ�ĮƌƐƚ�ƉĂŐĞ͘ 
 

· WĂƉĞƌƐ�ƐŚŽƵůĚ�ďĞ�ƐƵŝƚĂďůĞ�
ĨŽƌ�Ă�ϮϬ-Ϯϱ-ŵŝŶƵƚĞ�ƉƌĞƐĞŶͲ
ƚĂƟŽŶ�–�ƵŶĚĞƌ�ϰϱϬϬ�ǁŽƌĚƐ͕�
ŶŽƚ�ŝŶĐůƵĚŝŶŐ�ƌĞĨĞƌĞŶĐĞƐ�Žƌ�
ĂďƐƚƌĂĐƚ͘ 
 
 

· ^ƵďŵŝƐƐŝŽŶƐ�ĂƌĞ�ĚƵĞ� 
&Ğď�ϭϰ͕�ϮϬϮϬ͕�ĂŶĚ�Ăůů�ƉƌĞͲ
ƐĞŶƚĞƌƐ�ǁŝůů�ďĞ�ŶŽƟĮĞĚ�ďǇ�
DĂƌĐŚ�ϱ͕�ϮϬϮϬ 

 
 
 
 

 

 

 

 

 

 

ϮϬϮϬ�h/h��WŚŝůŽƐŽƉŚǇ�'ƌĂĚƵĂƚĞ��ŽŶĨĞƌĞŶĐĞ 

�Ɖƌŝů�Ϯϰ-Ϯϱ� 

 
 

dŚĞ�ŐƌĂĚƵĂƚĞ�ƐƚƵĚĞŶƚƐ�Ăƚ�ƚŚĞ�hŶŝǀĞƌƐŝƚǇ�ŽĨ�
/ůůŝŶŽŝƐ�Ăƚ�hƌďĂŶĂ-�ŚĂŵƉĂŝŐŶ�ŝŶǀŝƚĞ�ŐƌĂĚƵͲ
ĂƚĞ�ƐƚƵĚĞŶƚ�ƉĂƉĞƌƐ�ŽŶ�ĂŶǇ�ƚŽƉŝĐ�ƌĞůĂƚĞĚ�ƚŽ�
ƚŚĞ�ďƌŽĂĚ�ƚŚĞŵĞ�ŽĨ�ŽƵƌ�ĐŽŶĨĞƌĞŶĐĞ͗��ƚŚŝĐƐ�
ĂŶĚ�WƌĂĐƟĐĂů�WŚŝůŽƐŽƉŚǇ͘�� 
 

 
WůĞĂƐĞ�ĞŵĂŝů�ƉĂƉĞƌƐ�ƚŽ͗��ϮϬϮϬh/h�'ƌĂĚ�ŽŶĨĞƌĞŶĐĞΛŐŵĂŝů͘ĐŽŵ� 

&Žƌ�Ăůů�ŝŶĨŽƌŵĂƟŽŶ͕�ƉůĞĂƐĞ�ĐŽŶƚĂĐƚ͗��ϮϬϮϬh/h�'ƌĂĚ�ŽŶĨĞƌĞŶĐĞΛŐŵĂŝů͘ĐŽŵ 


